



PRIVATE SALES



INDEX

CIGAR BRANDS	ORIGIN	PAGE
Flor de Selva	Honduras	6
Villa Zamorano	Honduras	11
Cumpay	Nicaragua	13
Ashton	Dominican Republic	16
Ashton Small Cigars	Cameroon . Connecticut	18
Joya de Nicaragua	Nicaragua	20
La Invicta Small Cigars	Nicaragua	25
BigFoot Small Cigars	Dominica Republic	26
LIFESTYLE	ORIGIN	

France

L Puro Candles



Our recommendations Cigar strength Mild > Medium > Full Ratings 92 Cigar Journal 93 Cigar Aficionado 92 Cigar Insider 92Cigar Insider 3/5L'Amateur de Cigare 4/2Cigar Journal - Best of 25 4/6Cigar Aficionado - Best of 25

LEGEND



28



ORDERING

HOW TO ORDER

Thank you for your interest in our cigars! All the products listed in this portfolio are genuine and we can certify that Cigraal Ltd is their official distributor or agent.

Ordering is easy and can be done either by sampler or by box, unless indicated otherwise. Just send us an email with the brand name and quantity: orders@cigraal.com.

Sampler = a minimum of 6 handmade cigars from any of the brands listed (price per cigar applies). Brands can be combined within a sampler. Samplers are delivered in a pouch with humidity pack.

Indicates our special recommendations

SALES CONDITIONS

Free delivery in Hong Kong for a minimum purchase of HK\$ 800

If your order is **HK\$ 2,380 and over** you will receive a **10% discount** If your order is **HK\$ 4,800 and over** you will receive a **20% discount**



Delivery can be arranged to countries outside of Hong Kong, and will be invoiced in addition to the order. Please contact us for more details: orders@cigraal.com

On-sale items cannot be combined with any other discount or offer being run at the same time.

PAYMENT METHODS

Bank Transfer or PayPal Upon receiving your order confirmation, you will receive the invoice with all payment details.

CONTACT

Cigraal Ltd 6th Floor, Union Park Tower, 168 Electric road, Fortress Hill, Hong Kong

 Office:
 +852 3955 8516

 Eric Piras:
 +852 9035 5993

 Email:
 orders@cigraal.com

www.cigar-eshop.com is part of www.cigraal.com









TERMS & CONDITIONS

TERMS OF USE

Welcome to Cigar-eshop.com. Before you use the Cigar-eshop.com (the "Catalogue"), please read the following basic terms that govern your use of the Catalogue. By using the Catalogue, you agree to follow and be bound by these terms (the "agreement").

We may, from time to time, change the rules that govern your use of the Catalogue. Your use of the Catalogue following any such change constitutes your agreement to follow and be bound by the rules as changed. We may change, move or delete portions of, or may add to, the Catalogue from time to time including, but not limited to, content and equipment and/or software needed for access or use.

COPYRIGHTS, TRADEMARKS AND OTHER INTELLECTUAL PROPERTY RIGHTS

This is Cigar-eshop.com, operated by Cigraal Limited. Unless otherwise noted, all materials, including images, illustrations, designs, icons, photographs, and other written materials that are part of the Catalogue are copyrights, trademarks, trade dress and/or other intellectual properties owned, controlled or licensed by Cigraal Limited. The Catalogue as a whole is protected by copyright and trade dress, all worldwide rights, titles and interests in and to which are owned by Cigraal Limited.

All other trademarks, service marks, product names and company names or logos appearing on the site are the property of their respective owners. Any use of such trademarks, service marks, product names and company names or logos, including the reproduction, modification, distribution or republication of same without the prior written permission of the owner of same, is strictly prohibited.

The materials on the Catalogue are intended solely for personal, noncommercial use. You may download or copy the downloadable materials displayed on the Catalogue for your personal use only. No right, title or interest in any downloaded materials or software is transferred to you as a result of any such downloading or copying. You may not reproduce, publish, transmit, distribute, display, modify, create derivative works from, sell or participate in any sale of, or exploit in any way, in whole or in part, any of the materials on the Catalogue or any related software without the prior written permission of Cigraal Limited.

DUTIES, TAXES AND LICENSES

All duties, taxes and licenses incurred while shopping at Cigar-eshop.com are the sole responsibility of the customer. Cigar-eshop.com cannot be held responsible for any orders with pending taxes, duties or licenses.

MINOR COMPLIANCE

Cigar-eshop.com will not sell products to anyone under the age of 21, and we do not sell cigarettes. Cigar-eshop.com cannot be held responsible for minors purchasing products with a guardian credit card. By using this catalogue, you agree that you are at least 21 years of age.

LEGAL COMPLIANCE

Our liability to you, if any, shall not exceed the total of the invoice for services and products provided on the transaction in dispute. We shall not be liable for indirect, incidental, consequential, reliance or special damages for harm to business, lost profits, lost savings or lost revenues, whether or not we have been advised of the possibility of such damages. We shall not be liable for any damage that you may suffer arising out of use, or inability to use, the services or products provided hereunder unless such damage is a caused intentional act of Cigar-eshop.com. These limitations of liability shall apply regardless of the form of action, whether in contract, warranty, strict liability or tort, and shall survive failure of an exclusive remedy. The provisions of this paragraph will survive any sale completed with you and any change or elimination of this agreement and/or the Catalogue.

You agree to indemnify, defend and hold harmless Cigar-eshop.com parties against all damages, claims, liability, costs, and expenses, including but not limited to reasonable attorney's fees, arising out of violation of any of the provisions of this agreement by you or anyone accessing Cigar-eshop.com Catalogue under your account.

GOVERNING LAW

Cigar-eshop.com is created and controlled by Cigraal Limited in Hong Kong. The laws of Hong Kong will govern all terms, conditions and disclaimers on the Catalogue, including this agreement, without giving effect to any principles of conflicts of laws.

SECURITY

To protect your personal information, we take reasonable precautions and follow industry best practices to make sure it is not inappropriately lost, misused, accessed, disclosed, altered or destroyed. Your personal information is encrypted using secure socket layer technology (SSL) and stored with AES-256 encryption. Although no method of transmission over the Internet or electronic storage is 100% secure, we follow all PCI-DSS requirements and implement additional generally accepted industry standards.





ddd kelva CIGARS SINCE 1995









Flor De Selva Cigars are handmade in Danlí, Honduras.

THE ESSENTIAL HONDURAN

This hand-made cigar offers a sublimate character of Danlí, expressive taste with woody notes, balanced and subtle aromas of cedar, dried fruit and rounding out flavors of honey.

Flor de Selva cigars are:

- Hand made in Honduras
- 100% natural tobacco
- Long fillers

Flor de Selva has recently celebrated its 20th anniversary.





FLOR DE SELVA COLLECCIÓN CLÁSICA

FLOR DE SELVA SIESTA

 SIZE:
 4 ^{1/4} x 40

 PACKING:
 20 cigars/box

 PRICE/CIGAR:
 HK\$ 99

 PRICE/BOX:
 HK\$ 1,980

FLOR DE SELVA

PETIT-CORONA

PRICE/CIGAR: **HK\$ 139** PRICE/BOX: **HK\$ 973**

SIZE:

PACKING:

5^{1/2} x 42

7 cigars/box



FLOR DE SELVA Egoísta

 SIZE:
 3 ^{1/2} x 56

 PACKING:
 20 cigars/box

 PRICE/CIGAR:
 HK\$ 159

 PRICE/BOX:
 HK\$ 3,180



FLOR DE SELVA PETIT-CORONA

 SIZE:
 5 ^{1/2} x 42

 PACKING:
 25 cigars/box

 PRICE/CIGAR:
 HK\$ 128

 PRICE/BOX:
 HK\$ 3,200



FLOR DE SELVA Robusto

 SIZE:
 4 ^{3/4} x 50

 PACKING:
 4 cigars/box

 PRICE/CIGAR:
 HK\$ 151

 PRICE/BOX:
 HK\$ 604



FLOR DE SELVA ROBUSTO

 SIZE:
 4 ^{3/4} x 50

 PACKING:
 7 cigars/box

 PRICE/CIGAR:
 HK\$ 166

 PRICE/BOX:
 HK\$ 1,162



CIGRAAL orders@cigraal.com

FLOR SELVA



FLOR DE SELVA COLLECCIÓN CLÁSICA

FLOR DE SELVA ROBUSTO TUBOS

 SIZE:
 4 ^{3/4} x 50

 PACKING:
 16 cigars/box

 PRICE/CIGAR:
 HK\$ 160

 PRICE/BOX:
 HK\$ 2,560



FLOR DE SELVA **TEMPO**

 SIZE:
 6 x 60

 PACKING:
 20 cigars/box

 PRICE/CIGAR:
 HK\$ 202

 PRICE/BOX:
 HK\$ 4,040



FLOR DE SELVA CHURCHILL

 SIZE:
 7 x 49

 PACKING:
 4 cigars/box

 PRICE/CIGAR:
 HK\$ 201

 PRICE/BOX:
 HK\$ 804



FLOR DE SELVA CHURCHILL

 SIZE:
 7 x 49

 PACKING:
 7 cigars/box

 PRICE/CIGAR:
 HK\$ 217

 PRICE/BOX:
 HK\$ 1,519



FLOR DE SELVA CHURCHILL TUBOS

 SIZE:
 7 x 49

 PACKING:
 16 cigars/box

 PRICE/CIGAR:
 HK\$ 211

 PRICE/BOX:
 HK\$ 3,376



FLOR DE SELVA DOBLE CORONA

 SIZE:
 7 ^{1/2} x 52

 PACKING:
 25 cigars/box

 PRICE/CIGAR:
 HK\$ 232

 PRICE/BOX:
 HK\$ 5,800







HONDURAS



FLOR DE SELVA COLLECCIÓN MADURO

FLOR DE SELVA (95 MADURO ROBUSTO

 SIZE:
 4 ^{3/4} x 50

 PACKING:
 20 cigars/box

 PRICE/CIGAR:
 HK\$ 160

 PRICE/BOX:
 HK\$ 3,200



FLOR DE SELVA MADURO Nº15

 SIZE:
 5 ^{1/2} x 54

 PACKING:
 20 cigars/l

 PRICE/CIGAR:
 HK\$ 205

 PRICE/BOX:
 HK\$ 4,100



FLOR DE SELVA MADURO TEMPO

 SIZE:
 6 x 60

 PACKING:
 20 cigars/box

 PRICE/CIGAR:
 HK\$ 207

 PRICE/BOX:
 HK\$ 4,140



FLOR DE SELVA MADURO **GRAND PRESSÉ**

 SIZE:
 6 x 56

 PACKING:
 10 cigars/box

 PRICE/CIGAR:
 HK\$ 218

 PRICE/BOX:
 HK\$ 2,180











FLOR DE SELVA COLLECCIÓN ANIVERSARIO Nº 20

9 CJ FLOR DE SELVA ANIVERSARIO EGOÍSTA

3 ^{1/2} x 56 SIZE: 10 cigars/box PACKING: PRICE/CIGAR: HK\$ 154 PRICE/BOX: HK\$ 1,540



#|6 CJ

FLOR DE SELVA ANIVERSARIO ROBUSTO

4 ^{3/4} x 50 SIZE: 10 cigars/box PACKING: PRICE/CIGAR: HK\$ 155 PRICE/BOX: HK\$ 1,550



FLOR DE SELVA ANIVERSARIO **PETIT-CORONA**

5 ^{1/2} x 42 SIZE: 10 cigars/bo PACKING: PRICE/CIGAR: HK\$ 126 PRICE/BOX: HK\$ 1,260



FLOR DE SELVA ANIVERSARIO TEMPO

6 x 60 SIZE: 10 cigars/box PACKING: PRICE/CIGAR: HK\$ 211 PRICE/BOX: HK\$ 2,110



FLOR DE SELVA ANIVERSARIO SAMPLER

4 sizes

SIZE: PACKING: PRICE/BOX: HK\$ 646











FLOR DE SELVA EDICIÓN LIMITADA CHINESE NE<u>W YEAR</u> OF THE PIG

FLOR DE SELVA LIMITED EDITION TORO

HONDURAS

SIZE:6 x 52PACKING:19 cigars/boxPRICE/BOX:HK\$ 2,988Contains its own humidifying system

The line's design combines traditional Chinese patterns with Mayan hieroglyphics. The pig is the 12th sign of the Chinese zodiac, and according to their tradition, there are 12 animals guarding the gates of Heaven. Meanwhile, on a different continent, the Mayas believed that we are all born with a Nahual, or spirit animal, that guides us through life.

The tobacco is handpicked in the renowned valleys of Jamastrán in Honduras and Jalapa in Nicaragua.

Only 50 boxes left!









ATT

HONDURAS

Villa Zamorano Cigars are manufactured in Honduras: San Judas Tadeo factory in Danlí.

RICH IN TASTE NOT IN PRICE ...

A brand created in 2002 by Maya Selva.

This hand-made long leaf cigar offers a full, expressive taste with notes of roasted coffee.

Hand-made cigar with very good tobacco, at a convenient price.

Villa Zamorano cigars are:

- Hand made in Honduras
- 100% natural tobacco
- Long fillers

Each cigar smoker can enjoy the luxury of a real smoke.





VILLA ZAMORANO COLLECCIÓN CLÁSICA

VILLA ZAMORANO EXPRESO - BUNDLE

 SIZE:
 3 ^{1/2} x 52

 PACKING:
 15 cigars/bundle

 PRICE/CIGAR:
 HK\$ 95

 PRICE/BUNDLE:
 HK\$ 1,425

VILLA ZAMORANO

PRICE/CIGAR: HK\$ 90

PRICE/BUNDLE: HK\$ 1,350

SIZE:

PACKING.

CORONA - BUNDLE

5 x 42

15 cigars/bundle



WILLA ZAMORANO

EL GORDO - BUNDLE

 SIZE:
 5 x 56

 PACKING:
 15 cigars/bundle

 PRICE/CIGAR:
 HK\$ 144

 PRICE/BUNDLE:
 HK\$ 2,160



VILLA ZAMORANO Robusto - Bundle

 SIZE:
 5 x 50

 PACKING:
 15 cigars/bundle

 PRICE/CIGAR:
 HK\$ 119

 PRICE/BUNDLE:
 HK\$ 1,785



VILLA ZAMORANO CHURCHILL - BUNDLE

 SIZE:
 7 x 48

 PACKING:
 15 cigars/bundle

 PRICE/CIGAR:
 HK\$ 143

 PRICE/BUNDLE:
 HK\$ 2,160



VILLA ZAMORANO (89 NºI5 - BUNDLE

 SIZE:
 5 ^{1/2} x 54

 PACKING:
 15 cigars/bundle

 PRICE/CIGAR:
 HK\$ 144

 PRICE/BUNDLE:
 HK\$ 2,160





11

HONDURAS



VILLA ZAMORANO COLLECCIÓN RESERVA

WVILLA ZAMORANO N⁰I5 RESERVA

5 ^{1/2} x 54 SIZE: 25 cigars/box PACKING: PRICE/CIGAR: HK\$ 147 PRICE/BOX: HK\$ 3,675



VILLA ZAMORANO EXPRESO RESERVA

3 ^{1/2} x 52 SIZE: 25 cigars/box 📱 PACKING: PRICE/CIGAR: HK\$ 99 PRICE/BOX: HK\$ 2,475



VILLA ZAMORANO **ROBUSTO RESERVA**

5 x 50 SIZE: 25 cigars/box PACKING: PRICE/CIGAR: HK\$ 123 PRICE/BOX: HK\$ 3,075



VILLA ZAMORANO EL GORDO RESERVA

5 x 56 SIZE: 25 cigars/box PACKING: PRICE/CIGAR: HK\$ 147 PRICE/BOX: HK\$ 3,675



WVILLA ZAMORANO CHURCHILL RESERVA

SIZE:	7 x 48
PACKING:	25 cigars/box
PRICE/CIGAR:	НК\$ 146
PRICE/BOX:	HK\$ 3,650











The tobacco of Cumpay, an authentic Nicaraguan "puro", is growing in Nicaragua.

A REAL PURO

Cumpay is a medium-bodied cigar for the aficionado who truly wants to enjoy a well-balanced, full flavored cigar.

Cumpay cigars are:

- Hand made in Nicaragua
- 100% natural tobacco
- Long fillers



Cumpay draws its unique flavor and surprising character from the volcanic soil of the land, and features a complex array of aromas.

These include a hint of roasted coffee, hazelnut and leather, all revealed through an unusual progression where potency precedes mildness.





4 x 46 SIZE: 4 cigars/box PACKING: PRICE/CIGAR: HK\$ 107 HK\$ 428 PRICE/BOX:



CUMPAY CORONA

5^{1/2} x 42 SIZE: PACKING: 4 cigars/box PRICE/CIGAR: HK\$ 117 PRICE/BOX: HKS 468



>CUMPAY ROBUSTO

SIZE: 4 ^{3/4} x 50 PACKING: PRICE/CIGAR: HK\$ 140 PRICE/BOX: HK\$ 2,800



CUMPAY

CUMPAY SHORT

4 x 46 SIZE: 20 cigars/box PACKING: PRICE/CIGAR: HK\$ 112 HK\$ 2,240 PRICE/BOX:



CUMPAY CORONA

SIZE:	5 ^{1/2} x 42
PACKING:	20 cigars/box
PRICE/CIGAR:	НК\$ 122
PRICE/BOX:	HK\$ 2,440

CUMPAY **ROBUSTO - TUBOS**

SIZE: 4 ^{3/4} x 50 PACKING: 16 cigars/box PRICE/CIGAR: HK\$ 146 PRICE/BOX: HK\$ 2,336



CIGRAAL orders@cigraal.com





CUMPAY VOLCÁN

 SIZE:
 5 x 60

 PACKING:
 20 cigars/l

 PRICE/CIGAR:
 HK\$ 214

 PRICE/BOX:
 HK\$ 4,280



CUMPAY N⁰I5

SIZE:	5 ^{1/2} x 54
PACKING:	20 cigars/box
PRICE/CIGAR:	HK\$ 191
PRICE/BOX:	HK\$ 3,820

CUMPAY CHURCHILL

SIZE:	7 x 48
PACKING:	20 cigars/box
PRICE/CIGAR:	НК\$ 184
PRICE/BOX:	HK\$ 3,680

CUMPAY VOLCÁN MADURO

 SIZE:
 5 x 60

 PACKING:
 20 cigars/box

 PRICE/CIGAR:
 HK\$ 224

 PRICE/BOX:
 HK\$ 4,480



4/5 ADC

CUMPAY

CUMPAY N⁰I5

 SIZE:
 5 ^{1/2} x 54

 PACKING:
 4 cigars/box

 PRICE/CIGAR:
 HK\$ 186

 PRICE/BOX:
 HK\$ 744



CUMPAY CHURCHILL

 SIZE:
 7 x 48

 PACKING:
 4 cigars/box

 PRICE/CIGAR:
 HK\$ 179

 PRICE/BOX:
 HK\$ 716

CUMPAY CHURCHILL - TUBOS

 SIZE:
 7 x 48

 PACKING:
 16 cigars/box

 PRICE/CIGAR:
 HK\$ 194

 PRICE/BOX:
 HK\$ 3,104













DOMINICAN REPUBLIC

Founded in 1985, Ashton is one of the world's premier luxury cigar brands.

Handcrafted in the Dominican Republic, Ashton cigars are made to the highest quality standards using only the finest aged tobaccos. With an infinite commitment to quality, consistency and excellence, Ashton is celebrated worldwide for the very finest in premium cigars.

Handmade in the legendary Tabacalera A. Fuente factory, Ashton cigars utilize only the finest, most exceptional, aged tobaccos.

Every detail, from meticulous wrapper selection to the complex processes of aging and blending, receives the utmost accommodation in the manufacture of each cigar.



Ashton has received numerous awards and accolades through the years and is a perennial "Top 5" brand in the U.S. market.



ASHTON AGED MADURO

N⁰20 CORONA

5^{1/2} x 44 SIZE: 25 cigars/box PACKING: PRICE/CIGAR: HK\$ 157 PRICE/BOX: HK\$ 3,925



Nº40 TORO

6 x 50 SIZE: 25 cigars/box PACKING: PRICE/CIGAR: HK\$ 194 PRICE/BOX: HK\$ 4,850



BELICOSO

4 ^{7/8} x 49 SIZE: 25 cigars/box PACKING: PRICE/CIGAR: HK\$ 179 PRICE/BOX: HK\$ 4,475



CORONA GORDA

5 ^{3/4} x 46 SIZE: 25 cigars/box PACKING: PRICE/CIGAR: HK\$ 188 PRICE/BOX: HK\$ 4,700



ASHTON SYMMETRY

ASHTON HERITAGE PURO SOL



SIZE: PACKING: PRICE/CIGAR: HK\$ 201 PRICE/BOX:

5 x 50 25 cigars/box HK\$ 5,025



CIGRAAL orders@cigraal.com



DOMINICAN REPUBLIC



eticoso nºi

5 ^{1/4} x 52 SIZE: 24 cigars/box PACKING: PRICE/CIGAR: HK\$ 188 PRICE/BOX: HK\$ 4,512



ĊΔ

ECLIPSE TUBE

6 x 52 SIZE: PACKING: 24 cigars/box PRICE/CIGAR: HK\$ 228 PRICE/BOX: HK\$ 5,475



ASHTON VIRGIN SUN GROWN

CORONA GORDA

GRAND CORONA

SIZE: 5 ^{2/4} x 46 24 cigars/box PACKING: PRICE/CIGAR: HK\$ 177 PRICE/BOX: HK\$ 4,248

ENCHANTMENT SPECIAL PERFECTO

4 ^{3/8} x 60 SIZE: 22 cigars/box PACKING: PRICE/CIGAR: HK\$ 182 PRICE/BOX: HK\$ 4,004

7 x 49

24 cigars/box

SORCERER

CHURCHILL

PRICE/CIGAR: HK\$ 216 PRICE/BOX: HK\$ 5,184

SIZE:

PACKING:



ROBUSTO

5 ^{1/2} x 50 SIZE: PACKING: 24 cigars/box PRICE/CIGAR: HK\$ 190 PRICE/BOX: HK\$ 4,560



TORPEDO

6^{1/2} x 55 SIZE: PACKING: PRICE/CIGAR: HK\$ 233 PRICE/BOX: HK\$ 5,592



WIZARD GIGANTE TORO

6 x 56 SIZE: 37 cigars/box PACKING: PRICE/CIGAR: HK\$ 241 PRICE/BOX: HK\$ 8,917



89 CJ



TRES MYSTIQUE PETIT CORONA

4 ^{3/8} x 44 SIZE: PACKING: 24 cigars/box PRICE/CIGAR: HK\$ 154 PRICE/BOX: HK\$ 3,696

ĊA

92 CI

5 CIGARS

> SIZE: PACKING: 5 cigars/box PRICE/CIGAR: -PRICE/BOX: HK\$ 1,080









SMALL CIGARS

ASHTON SMALL CIGARS - CAMEROON

MINI CIGARILLOS

SIZE: PACKING:

3 ^{1/4} x 20 20 cigars/box PRICE/BOX: HK\$ 260

3 ^{3/4} x 26



S E Ñ O R I T A S

3 ^{1/2} x 30 SIZE: 10 cigars/box PACKING: PRICE/BOX: HK\$ 280



ASHTON SMALL CIGARS - CONNECTICUT

CIGARILLOS

SIZE: PACKING: PRICE/BOX: HK\$ 220













JOYA DE NICARAGUA S.A. is a family owned, Nicaragua-based cigar factory that handcrafts traditional cigars for the premium luxury cigar market.

Founded in 1968, it is Nicaragua's oldest cigar factory in operation and home to the legendary JOYA DE NICARAGUA® brand of cigars.



JOYA DE NICARAGUA is regarded by many as the patriarch creator of robust, unique puro blends of locally grown black tobaccos, and its cigars are sold in more than 43 countries around the world.





JOYA DE NICARAGUA CUATRO CINCO TORO

 SIZE:
 6 ^{1/4} x 50

 PACKING:
 10 cigars/box

 PRICE/CIGAR:
 HK\$ 194

 PRICE/BOX:
 HK\$ 1,940

A JOYA DE NICARAGUA

5 x 56

10 cigars/box

CUATRO CINCO DOBLE ROBUSTO

PRICE/CIGAR: **HK\$ 200** PRICE/BOX: **HK\$ 2,000**

SIZE:

PACKING:



JOYA DE NICARAGUA CUATRO CINCO TORPEDO

 SIZE:
 6 x 52

 PACKING:
 10 cigars/box

 PRICE/CIGAR:
 HK\$ 205

 PRICE/BOX:
 HK\$ 2,050



JOYA DE NICARAGUA CUATRO CINCO **PETIT CORONA**

SIZE:	4 ^{1/2} x 46
PACKING:	10 cigars/box
PRICE/CIGAR:	НК\$ 129
PRICE/BOX:	HK\$ 1,290





















Exceptional: the best of 2 different wrappers in one cigar

JOYA DE NICARAGUA CABINETTA BELICOSO

6 x 54 SIZE: 20 cigars/box PACKING: PRICE/CIGAR: HK\$ 190 PRICE/BOX: HK\$ 3,800



JOYA DE NICARAGUA CABINETTA CORONA GORDA

5^{1/4}x46 SIZE: PACKING: 20 cigars/box PRICE/CIGAR: HK\$ 117 PRICE/BOX: HK\$ 2,340



JOYA DE NICARAGUA CABINETTA

TORO

6 x 52 SIZE: 20 cigars/box PACKING: PRICE/CIGAR: HK\$ 158 HK\$ 3,160 PRICE/BOX:



JOYA DE NICARAGUA CABINETTA ROBUSTO

SIZE:	5 x 50	101
PACKING:	20 cigars/box	
PRICE/CIGAR:	НК\$ 136	i.
PRICE/BOX:	HK\$ 2,720	Contraction of the









JOYA DE NICARAGUA ANTAÑO GRAN RESERVA BELICOSO

6 x 54 SIZE: PACKING: PRICE/CIGAR: HK\$ 218 PRICE/BOX: HK\$ 4,360



ANTAÑO GRAN RESERVA

ROBUSTO GRANDE

5 ^{1/2} x 52 SIZE: PACKING: PRICE/CIGAR: HK\$ 189 PRICE/BOX: HK\$ 3,780



🛞 JOYA DE NICARAGUA SELECCIÓN ROBUSTO

SIZE: PACKING: PRICE/BOX: HK\$ 1,170

5 x 50 6 cigars/box







JOYA DE NICARAGUA (<mark>90</mark>) CJ 90 ĊA ANTAÑO GRAN RESERVA GRAN CONSUL 0

4 ^{3/4} x 60 SIZE: PACKING: 20 cigars/box PRICE/CIGAR: HK\$ 208 PRICE/BOX: HK\$ 4,160











NICARAGUA - SMALL CIGAR

La Invicta, a long-standing favourite of the UK market, represents fantastic value for money.

This is the newest addition to the line, a small cigar from Nicaragua, using fine tobacco.





LA INVICTA

LA INVICTA Small cigar - bundle

 SIZE:
 30 x 100

 PACKING:
 25 cigars

 PRICE/BUNDLE:
 HK\$ 625

30 x 100 mm 25 cigars/bundle







DOMINICAN REPUBLIC - SMALL CIGAR

Take a step forward with BigFoot; discover this new and innovative line of machine-made cigars.

A product made of 100% tobacco, it shows excellent quality and still better price.



Its innovative packaging keeps the humidity at proper level, due to its practical and comfortable zipper closing, allowing this machine-made cigar to be enjoyed at any time.



YTTY

BIG FOOT

BIG FOOT SWEET AROMATIC

SIZE:
PACKING:

PRICE/PACK: HK\$ 110 PRICE/DISPLAY: HK\$ 880

7,6 x 134 mm 5 cigars/pack 8 packs/display HK\$ 110 HK\$ 880











CANDLES

LPuro candles immerse you into a unique, esthetic and initiatory experience.

100% made in France candle, 100% "hecho a mano"

LPuro sources the world's most precious perfume essences, the best and high quality raw material from Grasse, in the South of France, the cradle of the world's perfume industry.



The wax is elaborated specifically for each LPuro candle, in a French workshop where each stage is adapted after a long artisanal process. The mixture of several waxes (mineral and sometimes vegetal) is chosen by our wax master to obtain a quality of combustion and a perfect extraction of the perfumes.



TIV

L PURO CANDLE & CABINET

- SIZE: WEIGHT: AROMA:
- 15 x 15 x 12 cm 400g - Sancti Spiritus - L'Egregore - El Malecon 80 hours HK\$ 900



PRICE/SET:

CONSUMPTION:

L PURO CANDLE

- 10 x 10 x 10 cm SIZE: WEIGHT: AROMA. CONSUMPTION: PRICE/CANDLE: HK\$ 600
 - 400g - Sancti Spiritus - L'Egregore - El Malecon 80 hours



L PURO HOME PERFUME

100ml

- VOLUME: AROMA:
- HK\$ 490

PRICE/BOTTLE:



SANCTI SPIRITUS

Main notes: purple incense A subtle evocation of Havana, its cathedral, a place filled with history - it all culminates in a unique experience imparted with spirituality. Inspirations include: incense, aged woods, subtle spices, and lush greenery.

L'EGREGORE

Main notes: woody, ambergris This blend is reminiscent of a resplendent twilight under the endless skies of the Cuban West. Inspirations include: early morning dew, dazzling tobacco unveiled by the humid night, tonka nut and cedar wood

EL MALECON

Main notes: woody, oriental

A splendor harkening back to the time of the Caribbean conquests, when sailing ships were carefully packed for voyages to the furthest reaches of the globe. Leather and musk gently mingle with the hot breeze on the seafront of this magnificent town.

Inspirations include: tobacco, exotic spice, vanilla and musk.







FOLLOW OUR NEWS ON INSTAGRAM & FACEBOOK: CIGRAAL



ASK US TO BE ADDED TO OUR EVENTS & OFFERS MAILING LIST ORDERS@CIGRAAL.COM



2